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1. SHESBRB: 2N,0 = 2N, + 0, FIZKERHTEN: r=k 0 (N0) . LW
WS 7 = 986K Bf, 7E 12.0dm’ FERRBIEH, 2 p(N,0) =50.0 kPa BB
E# r,=2.05 Pas’'. WRMAGZHZH M ABEESHE.

(1) RZRPLLA Pa ¥k B BT R O )R DR R R ST &,
(2) RiZBLLA mol dm™ AR FE BAT I Y R B 2R R B &,
(3) 3K p(N,0) =10.0 kPa B &S HIAE BGIE R F iz [ B 3R

2. BBBHFRM A+B — C, BB ASBYHRNEMSE, BEC, 1
/INEEIE A BIEEALER A 5%, KR 2 /P A MAZDRRM? Rk (1D X AR
1%, SFBAHOZL; (2) X A.B¥H1EK; (3) X A . B HHNOLK

3. [BIRE A H RN 8% AP BEAT 3 — RS RN

A — B+C

RERIFFSEE, RE A FE, EAONp,,: RE#ETE ¢ HZIE, RESBHE
AR p» EEHSEH K LU R DUR AR R B R L

4. BHEIBR-14 (“C) M¥ZEHA T30 E, HHE —HLEWEREAMERFFERE,
ZNEHECIHIRRN 2% R ZRMAEDELRTFHTE?

5. 1129. 2K i}, EESZ EEA SRR % BRI TR
t/s 200 400 600 1000

p,/kpa 30. 40 33.33 36. 40 42. 40
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